BHIEAE A B :20244E08 21 H (k)

S HE [=XK£&]

i H

:2024.8.22 9:40

o2 R¥ 0.5 RN T CHEME18.0 AcfE18.0 FLA—/: oUT2 4 5 6 8 9
IN12 14 15 16 17 18
RS WIREA YT Z2aF7THw ko %— 3
= —2  :0UT IN 2PN~ D HM8A N 6N AEFI0N
NENIRE T A by
g6z | s K4 OUT IN |GROSS| HDCP | NET | crossh: % G | BhnE K4 OUT IN |GROSS| HDCP | NET |crosshif e
NEXENIE)) 44 441 9.6 |34.4 51 /N & 40 400 2.4 137.6
2| Z B BAT 38 38| 3.6 |34.4 52| 1L H #H— 46 46| 8.4 |37.6
3 RFE T 43 43| 8.4 |34.6 53|/ A 46 46| 8.4 |37.6
411K BB 40 40| 4.8 |35.2 54 B % 39 39| 1.2 ]37.8
5[ & 40 40| 4.8 |35.2 55 | FJR F5 I 39 39/ 1.2 ]37.8
6| FJR FEK 46 46/ 10.8 | 35.2 56|)11 8 &= 45 45] 7.2 137.8
R 39 39| 3.6 |35.4 571w EH 45 45| 7.2 137.8
S|B9 ket 39 39| 3.6 |35.4 8| HA SR 45 45| 7.2 137.8
9| B Fnk 38 38| 2.4 |35.6 59| R STk 51 51/13.2 |37.8
10 ¥EE FERE 38 38/ 2.4 |35.6 607N 44 44] 6.0 |38.0
119 5= 44 44| 8.4 |35.6 61|85 M 44 44| 6.0 |38.0
12/ BER 37 37| 1.2 |35.8 62| HF FEET 49 49/ 10.8 |38.2
IRIE=Z -} 43 43| 7.2 |35.8 63411 FntA 42 42| 3.6 [38.4
14|85 P 37 37| 1.2 |35.8 64 | fBde AR 42 42| 3.6 [38.4
1528 R 49 49/ 13.2 |35.8 65 i1 %W 42 42| 3.6 [38.4
16950 HE— 41 41| 4.8 |36.2 IEIIES: 48 48| 9.6 |38.4
17 X H kA 41 41| 4.8 |36.2 67 \FE A1 54 54| 15.6 |38.4
183NN A& 47 47/10.8 |36.2 68| fRlE H 1 47 47| 8.4 |38.6
19| B I 25— 41 41] 4.8 |36.2 69| HE 46 46| 7.2 |38.8
20 [P0 HEIK 40 40| 3.6 [36.4 T0|RER FRIKE 45 45| 6.0 [39.0
ANIESTI R IPS 40 40| 3.6 |36.4 71 HK FEHER 45 45/ 6.0 139.0
22| FHBA W HE 46 46| 9.6 |36.4 72| BIL ERT 51 51/12.0 |39.0
23| LR 7 46 46| 9.6 |36.4 73|16 FHHY 44 44| 4.8 139.2
24 K 1HS 39 39 2.4 |36.6 1418002 ST 43 43| 3.6 |39.4
25 H #h 45 45| 8.4 |36.6 75| AT R 49 49/ 9.6 |39.4
26 |2 E (& 45 45| 8.4 |36.6 6 AR EE 49 49| 9.6 [39.4
27 0 L 45 45| 8.4 |36.6 T7 R 955 48 48| 8.4 139.6
28| &Ik HEAI 44 44| 7.2 136.8 (BEREEESS 47 47 7.2 [39.8
29| KR B R 43 43| 6.0 |137.0 798 H E¥ 46 46/ 6.0 140.0
3044 )11 SCHE 43 43] 6.0 |37.0 80| FH H @k 49 49| 8.4 140.6
31N & 49 49/12.0 |37.0 81|71l FEHE 49 49| 8.4 140.6
32| ki — K 43 43| 6.0 [37.0 82| /MK 5F 49 49| 8.4 [40.6
33| AT HEE 43 43| 6.0 |137.0 83| ik i 48 48] 7.2 140.8
AR S 49 49/ 12.0 |37.0 84 |k H FhH 48 48| 7.2 |40.8
3B HH BEH 42 42) 4.8 |37.2 85|/ Fn % 45 45| 3.6 |41.4
36|21 A 42 42] 4.8 |37.2 86 |8 % 51 51| 9.6 [41.4
37T K21 48 48/10.8 |37.2 87| 7k s 45 45| 3.6 |41.4
38| #HA R 42 42] 4.8 |37.2 88|F L & 57 57/15.6 |41.4
39 KA BT 41 41] 3.6 |37.4 89 | HE 1L SR 58 58| 14.4 | 43.6
40 R BT 41 41| 3.6 |37.4 90 BTH B 59 59| 14.4 |44.6
41 98 BER 41 41| 3.6 |37.4
42 |3HRR AF 41 41| 3.6 [37.4
43| 1LR ¥ 47 47) 9.6 |37.4
44 ]S AT 47 47| 9.6 [37.4
45 & 1B 47 47] 9.6 |37.4
46 /0 FRF 47 47| 9.6 |37.4
47 | KiE 16— 40 40| 2.4 137.6
48{CIEF B 40 40| 2.4 |37.6
49 | BPiR & 40 40| 2.4 137.6
50 51 ATHE 40 40| 2.4 |37.6
1/ 1 HENMERAET LRSS




